

079

$$D =]0; 1[\cup]1; +\infty[\quad f(x) = x - \frac{1}{\ln x}$$

$$\lim_{x \rightarrow 1^-} f(x) \quad \lim_{x \rightarrow 1^+} f(x) \quad \lim_{x \rightarrow 0^+} f(x) \quad (1)$$

$$\lim_{x \rightarrow +\infty} f(x) - x \quad \lim_{x \rightarrow +\infty} f(x) \quad (2)$$

$$(2008) \quad f'(x) = 1 + \frac{1}{x(\ln x)^2} : \quad (3)$$

$$]0; 1[\quad]1; +\infty[\quad f \quad ($$

$$f(\alpha) = 0 \quad]\frac{3}{2}; 2[\quad \alpha \quad (4)$$

080

$$\begin{cases} f(x) = 2x^2(2\ln x + 1) ; x > 0 \\ f(0) = 0 \end{cases} : \quad \mathbb{R}^+ \quad f$$

$$(1999 / 2000) \quad \lim_{x \rightarrow +\infty} f(x) \quad (1)$$

$$0 \quad f \quad (2)$$

$$0 \quad f \quad ($$

$$f'(x) = 8x(\ln x + 1) : \quad (3)$$

$$+\infty \quad C_f \quad (4)$$

$$e \approx 2,7 : \quad 2 \text{ cm} \quad C_f \quad (5)$$

$$J = \int_1^2 x^2 \ln x \, dx : \quad (6)$$

$$C_f \quad \text{cm}^2 \quad ($$

$$x = 2 \quad x = 1$$

081

$$x \in]0, +\infty[\quad g(x) = x^2 - 1 + \ln x \quad (I)$$

$$(- 2003) \quad \lim_{x \rightarrow 0^+} g(x) \quad \lim_{x \rightarrow +\infty} g(x) \quad (1)$$

$$g'(x) \quad (2)$$

$$]0, +\infty[\quad g(x) \quad g(1) \quad ($$

$$f(x) = x - 1 - \frac{\ln x}{x} : \quad]0, +\infty[\quad (II)$$

$$\lim_{x \rightarrow 0^+} f(x) \quad (1)$$

$$\lim_{x \rightarrow +\infty} (f(x) - (x-1)) \quad \lim_{x \rightarrow +\infty} f(x) \quad ($$

$$(D) : y = x - 1 \quad C_f \quad ($$

$$f'(x) = \frac{g(x)}{x^2} : \quad (2)$$

$$C_f \quad f''(x) = \frac{1}{x^3}(3 - 2\ln x) : \quad (3)$$

$$C_f \quad (D) \quad (4)$$

$$x = e \quad x = 1 \quad (D) \quad C_f \quad (5)$$

073

$$3x^2 - 7x - 6 = 0 : \quad \mathbb{R} \quad (1)$$

$$3\ln^2 x - 7\ln x - 6 > 0 : \quad \mathbb{R}^{*+} \quad ($$

$$(2003) \quad \begin{cases} x + y = 7 \\ \ln x + \ln y = \ln 10 \end{cases} : \quad (\mathbb{R}^{*+})^2 \quad (2)$$

074

$$E_1 : (0, 5) \ln(x-1) + \ln(\sqrt{x+2}) = \ln 2 : \quad \mathbb{R} \quad (1)$$

$$E_2 : 2\ln x = \ln(2-x) : \quad \mathbb{R} \quad (2)$$

$$\ln(2 + \sqrt{3}) - \ln(2 - \sqrt{3}) + \ln(7 - 4\sqrt{3}) = 0 : \quad (3)$$

$$\begin{cases} 3\log_2(x) + 2\log_3(y) = 4 \\ \log_2(x^2) + \log_3(y^{-1}) = 5 \end{cases} : \quad \mathbb{R}^2 \quad (4)$$

$$\log(2 + \sqrt{3}) + \log\left(\frac{2 - \sqrt{3}}{4}\right) + \log(2) \log(100) \quad (5)$$

$$2,6 \% \quad 81000 \quad (6)$$

$$162000$$

$$v_0 = 25 \quad 0,2 \quad (v_n)_n \quad (7)$$

$$u_n = \log_5(v_n) : (u_n)_n$$

$$h'(x) \quad D_h \quad h(x) = \frac{3 - \ln x}{1 + \ln x} : \quad (8)$$

(2007)

075

$$\begin{cases} \frac{\ln x}{\ln y} = 4 \\ \ln(xy) = 5 \end{cases} \quad (x, y) \quad \begin{cases} \frac{u}{v} = 4 \\ u + v = 5 \end{cases} \quad (u, v)$$

076

$$(- 2006) \quad (X-3)(X-2) \quad (1)$$

$$(\ln x)^2 - 5(\ln x) + 6 = 0 : \quad \mathbb{R} \quad (2)$$

$$(\ln x)^2 - 5(\ln x) + 6 < 0 : \quad \mathbb{R} \quad (3)$$

077

$$\ln(3-x) - \ln(x-2) = 0 : \quad \mathbb{R} \quad (1)$$

$$(1999 / 2000) \quad \ln\left(1 - \frac{x}{2}\right) < 0 : \quad \mathbb{R} \quad (2)$$

078

$$C = \lim_{+\infty} \frac{\ln x - 3}{1 + 3\ln x} ; B = \lim_{(3)^-} \ln\left(\frac{3-x}{x+1}\right) ; A = \lim_{(-1)^+} \ln\left(\frac{3-x}{x+1}\right)$$

$$E = \lim_{+\infty} x \ln\left(\frac{1+x}{x}\right) ; D = \lim_{1^+} \frac{\ln x}{x^3 - 1}$$

$$H = \lim_{0^+} \sqrt{x} \ln x ; G = \lim_{+\infty} \frac{\ln x - 3x}{\ln x + x} ; F = \lim_{0^+} x^2 \ln x$$

بالتوفيق

085

$$. x \in I =]0, +\infty[\quad g(x) = -x + 1 + x \ln x \quad (\text{I})$$

$$. g'(x) \quad (1)$$

$$. \forall x > 0: g(x) \geq 0 \quad (2)$$

$$\begin{cases} f(x) = -3x^2 + 4x + 2x^2 \ln x; & x > 0 \\ f(0) = 0 \end{cases} \quad (\text{II})$$

$$\lim_{x \rightarrow +\infty} \frac{f(x)}{x} \quad \lim_{x \rightarrow +\infty} f(x) \quad (1)$$

$$0 \quad f \quad (2)$$

$$. f \quad f'(x) = 4g(x) \quad (3)$$

$$. C_f \quad I \quad I(1,1) \quad (4)$$

$$. J = \int_1^3 x^2 \ln x dx \quad (5)$$

$$C_f \quad ($$

$$. x = 3 \quad x = 1$$

086

$$. x \in I =]0, +\infty[\quad g(x) = x + 2 - 2 \ln x \quad (\text{I})$$

$$. g'(x) \quad (1)$$

$$. I \quad g(x) \quad g(2) \quad (2)$$

$$. f(x) = (1 + \frac{2}{x}) \ln x : \quad I =]0, +\infty[\quad (\text{II})$$

$$\lim_{x \rightarrow 0^+} f(x) \quad (1)$$

$$\lim_{x \rightarrow +\infty} \frac{f(x)}{x} \quad \lim_{x \rightarrow +\infty} f(x) \quad ($$

$$f'(x) = \frac{g(x)}{x^2} : \quad (2)$$

$$. C_f \quad 1 \quad (T) \quad (3)$$

$$. I = \int_1^e \ln x dx \quad \int_1^e \frac{\ln x}{x} dx \quad (4)$$

$$C_f \quad ($$

$$x = e \quad x = 1$$

087

$$[0, 1[\cup]1, +\infty[\quad \begin{cases} f(x) = -2x + \frac{x}{\ln x} + x \ln x \\ f(0) = 0 \end{cases}$$

$$. 0 \quad f \quad (1)$$

$$0 \quad f \quad (2)$$

$$\lim_{\substack{x \rightarrow 1 \\ x > 1}} f(x) \quad \lim_{\substack{x \rightarrow 1 \\ x < 1}} f(x) \quad (3)$$

$$. +\infty \quad C_f \quad \lim_{x \rightarrow +\infty} f(x) \quad (4)$$

$$. f'(x) = \frac{[(\ln x)^2 + 1][\ln x - 1]}{(\ln x)^2} : \quad (5)$$

$$f'(x) \quad (6)$$

$$e \approx 1,7 : \quad \frac{1}{2} \quad 0 \quad C_f \quad . C_f \quad (7)$$

082

$$. \mathbb{R}^{**} \quad f(x) = \frac{1}{2}(\ln x)^2 + x - x \ln x$$

$$\lim_{x \rightarrow 0^+} f(x) \quad (1)$$

$$. f(x) = x \ln x \left[\frac{1}{2} \left(\frac{\ln x}{x} \right) + \frac{1}{\ln x} - 1 \right] \quad (2)$$

$$. +\infty \quad C_f \quad \lim_{x \rightarrow +\infty} \frac{f(x)}{x} \quad \lim_{x \rightarrow +\infty} f(x) \quad (3)$$

$$f'(x) = \left(\frac{1-x}{x} \right) \ln x \quad (4)$$

$$. [3; 4] \quad \alpha \quad f(x) = 0 \quad (5)$$

$$. \ln 3 \approx 1,1 \quad \ln 2 \approx 0,7 \quad 2 \text{ cm} \quad C_f \quad (6)$$

083

$$f(x) = -x^2 + \frac{x-2}{2x} + \ln x : \quad f$$

$$. D_f \quad (1)$$

$$\lim_{x \rightarrow +\infty} \frac{f(x)}{x} \quad \lim_{x \rightarrow +\infty} f(x) \quad (2)$$

$$\lim_{x \rightarrow 0^+} f(x) \quad ($$

$$. f'(x) = \frac{(1-x)(2x^2 + 2x + 1)}{x^2} : \quad f'(x) \quad (3)$$

$$. f'(x) \quad ($$

$$. C_f \quad (4)$$

$$. J \quad .]0, 1] \quad f \quad g \quad (5)$$

$$. g^{-1} \quad ($$

084

$$. f(x) = 1 - (\ln x)^2 : \quad f$$

$$(2005) \quad D_f \quad (1)$$

$$\lim_{x \rightarrow 0^+} f(x) \quad (2)$$

$$\lim_{x \rightarrow +\infty} f(x) \quad ($$

$$\frac{(\ln x)^2}{x} = 4 \left(\frac{\ln t}{t} \right)^2 \quad t = \sqrt{x} \quad ($$

$$\lim_{x \rightarrow +\infty} \frac{f(x)}{x} \quad ($$

$$f'(x) : \quad (3)$$

$$I(e, 0) \quad f''(x) = 2 \cdot \frac{(-1 + \ln x)}{x^2} : \quad (4)$$

$$\left(\frac{1}{e} \approx 0,37 : \right) C_f \quad C_f \quad ($$

$$. \int_1^e (\ln x) dx \quad (5)$$

$$. \int_1^e (\ln x)^2 dx \quad ($$

$$C_f \quad ($$

$$. x = e \quad x = 1$$

بالتوفيق